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@ Instructions :
1. ot foeReiett Aifgar GOy &R H]. 1. Fill in every information asked for.
o wd 79T | 2. Attempt all questions.
3. TP VIR Aeeedl S S, G 3. Write the answer with explanation in
the blank space below each question.
FT] e S 4, Use the blank space provided on each
4. P PIRISH Helid BRI fteft s page for rough work.
RLEA 5. If you want to rewrite the solution of a
5. TEE AR fiftelel 'SR ® 9%+ A question cancelling the original, write it
SR A fogRae A 9RO gEgesdl on the last blank page mentioning the
FIgT GHIER T UeAT=AT HHGTEs foral. question number.
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ﬁwaﬂﬁ%@?ﬁaﬂiwﬁ%ﬂmw?ﬁmmﬂqiw. 4

uare. Its half part is to be coloured in such a way that the

1) The figure given below is a sq . o
uncoloured part will also be a square. Write how you will do it and show 1t 1n the figure. 3
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. ¥er Fievfte Frfter o, Fardier aisuiieh fbwe s T forgr, waravss aTefe
| grsviTer fFHHa Frer. 4
2) Observe the above expressions. Write the rule deciding the values of the expressions.
Hence find the value of the expression below.
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) Gl?x+8=y+9=z—10=t+11,ﬁ?x,y,z,tﬂ'iﬂﬁm?ﬁﬂmﬁﬁﬁﬁ

3) Ifx-8=y+9=2z-10=t+ 11, then write the values of x, y, z, t in the ascending order. 4

4) Trei oo W Spfasera FRiewr w1, G PR forgl. @rae, sesEr e

HeeT 100 3Rciel AR Ule=dl BxeEl e fasdl et o e 4
<) Observe the pattern of tiles in the following figure. Write your observation. Hence write
the number of white tiles, if 100 gray tiles are used. 4
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5) Seema has to leave home at 6 O' clock to go to her friend. She saw the reflection of a
clock in a mirror showing quarter to 8. After how much time should she leave home ? 4
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§) [If7is added to 5 times 2 number; the sum is a prime number between 60 and 100. Find )
the original number.
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7) A Aacnﬁlqﬁﬁ?ﬁzﬁWEFGkuﬁﬁ?ﬂwﬁmﬂ ame. 91w EFGH =t gl
Sre@ DKL =1 aRfTe St 2, @) R DKL T S=Res & 9Nd ABCD =1

7) The perimeter of square ABCD 1is half of the perimeter of square EFGH. The perimeter of
square EFGH is half of the perimeter of square JKL. Find how many times 18 the area of
square IJKL as that of square ABCD. 5

%) A three digit number consists of consecutive digits, but not in order. The number is
divisible by the sum of its digits giving quotient 16. How many such numbers are there T




9) mé@?ﬂaﬂﬁmwa@ﬁwéﬁ,ﬁmaﬂeﬂqaﬁmm.mﬂé

it A9 1. a1 AR wAld HoT e 3add PIal. 5
9) Write all the three digit numbers such that the product of digits in each of them is a prime
number. Add all those numbers and find the largest prime factor of the sum. 5

10) @ttt ampeia, O ABCD F&3; AB, BC &Mfo1 CD 31 oL FHME A 31TE.

sz=ﬁuﬂ,m4c=mﬁﬂ;mzamznuﬁmﬁw. 5
10) In the following figure, in O ABCD, the lengths of sides AB, BC and CD are equal.
lmeB=60°,m£C=106“,ﬁndmeasureﬁﬂf.éﬁand£[l. 5
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11) The following figure consists of 8 squares. Write the digits 1 to 8 in them such that —
11 not contain consecutive digits; (2) the four digit number
5

(1) the adjacent squares wi

formed in the horizontal middle row of squares will be the largest.
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12) The product of ages of student members of a Mathematics c]uh. is 80080. Find the
number of members, if their ages are between 5 and 15. |




13) @refe amgdid, A ABC =1 £ A anfdr £ C I gaTe E HEd B8R,

13) In the figure given below, in A ABC. bisectors of £ A and £ C intersect at E.
If m ~ EDC = 63°, m £ DEC = 65°; find the measure of the smallest angle of AABC. 6
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14) ==aTES b TUEAT 250; 10 woaEaT 500; 20 TN 125; 50 Tl 275 S
woﬁqaiﬂTSGWm%a.mmqﬁaﬁmmmwmﬁa,zﬁm
Rremeafa i <@ atg, AHT > <7 qrevira e T w@H e ?

14) I have 250 notes of Rs. 5: 500 notes of Rs. 10; 125 notes of Rs. 20; 275 notes of Rs. 50
and 50 notes of Rs. 100. I wish to distribute them among maximum students in such a
way that each of them will get equal number of notes of each denomination. Find the
maximum number of students and the amount each one of them will get.
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>, = 3 - then state whether each of

o 3 = —
IfD{nczlandA=n—3, B=3n C=n, 3’ -

the following statements is true or false. Ifitis false, justify your answet by a suitable

example.
(HA>D 2)B=C G)E>S

16) e JPdd, 3T PQRS & 795 AT fmen 3mg. i &= smadia fafgetean
== = = ST ORERR geffTE. @) amEa PQRS = aRfd @

&) In the following figure, rectangle PQRS is divided into nine rectangles. The numbers in
three of them indicate their respective perimeters. Find the perimeter of rectangle PQRS.
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17) @reler o, Rt Y% deumn Reneatd Gen @ @ aden qoffied o
el Prterr vt onfdr @retier geTe ST forer. 6
(1) Et Oz TouR faeneff fadt 2
(2) edra anfor |- weeuR faemeff faxdt 2
(3) peste fhar ol TR faemeff fadt 2
(4) werq Fag WaumR faeneff fdt ?

17) In the following figure; number of students playing specific games are shown in
respective circles. Observe the figure and find — - - 6

(1) number of students playing all the three games.

(2) number of students playing Foot-ball and Kho-Kho.
(3) number of students playing Foot-ball or Kabaddi.
(4) number of students playing only Kabaddi.
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.
% of the speed of cycling of Mohan. The speed of Car of

speed of Mohan's cycling by 25 km/hr. Praveen travelled a

cm'tam ance by car in 3 hours. Mohan would have required 8 hours to

n travel the same
distance. Find what was the speed of Seema's walking,

7
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19) In the following addition sum, P

the digits P, Q, R and re-write
digits.]

8
» Q and R are different digits other than 2, 3 and 8. Find

the sum. [t is hecessary to write how you found the
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